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Note : This paper has two Sections - Section - A and Section - B. Both these Sections are compulsory. 

SECTION - A 

1. 	Fill in the blanks by choosing the correct answers from the choices given below. 15x1 =15 

(kWh, kW, lines, reactive, humidity, survey, tap, conservator, creepage, delta, spacers, 
conductor, gases, cross-arm, air, prevention) 

(a) Dog is the trade name of 	 

(b) Due to fault inside the transformer, 	 may be formed. 

(c) Dry type transformers are 	  cooled. 

(d) 	 are provided to overcome the problem of clashing of LT conductors 
in the mid span. 

(e) 	  are provided in a pole to give mechanical support to multiple 
conductors. 

(f) 	 maintenance should be carried out for detecting deterioration of 
system components. 

(g) Unit of energy is 	 

(h) Quality of SF6  gas is checked by its 	 content. 

(i) Bus voltage is controlled by changing transformer 	 

(0 	Before installation of line 	 needs to be carried out. 

(k) 	 is provided for provision of expansion and contraction of oil in the 
transformer. 

(1) Primary of transformer winding is generally connected in 	 

(m) An insulator is specified by its 	 distance. 

(n) Surge arrester is installed for protection of switchgear, transformer and 

(o) 	 compensation is provided by shunt capacitors in a sub-station. 
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3. Match the following given in Column - A with Column - B. 
Column - A Column - B 

(a) Conductor (i) Relay 
(b) Multiplying factor (ii) XLPE 
(c) CT (iii) Porcelain 
(d) Cable (iv) Sag 
(e) Bushing (v) Energy Meter 

5x1=5 

2. 	Write true or false for the statements given below. 
(a) Transformer is a static device. 
(b) Concrete poles are more expensive than wooden poles. 
(c) Defects in CT and PT circuitry result in technical losses. 
(d) Power transformers and distribution transformers differ in design. 
(e) The rated voltage of 33 kV arrester is 30 kV. 
(f) Dissolved gas analysis is carried out in case of a circuit breaker. 
(g) Static meter's accuracy class is typically 0.2. 
(h) Silica gels are kept in transformer breather. 
(i) Low power factor contributes to high technical loss. 
(j) Isolator is operated at no load. 

10x1=10 

SECTION - B 
Answer any eight (8) questions from the following. 	 8x5=40 

4. Write a brief note on Buchholz relay. 

5. Describe about ring main system. 

6. Why is DC system required in a substation ? How is it provided there ? 

7. What do you mean by trivector meter ? 

8. Why reactive compensation is provided in distribution network ? 

9. Write a brief note on Hot Line Maintenance. 

10. What is the procedure for permit to work ? 

11. List important reasons for DTR failures. 

12. How does higher voltage reduce electric power losses ? 

13. Discuss the legal provisions as per Electricity Act, 2003 for dealing with theft of energy. 

14. What are the various factors contributing to high technical losses ? 

15. Describe construction details of a cable. 

OEE-002 	 2 



attl.-002 

	

faqqa:, rcicitul 	er 	r 54 1-0u1-ta 	 ) 

	ITTIVT 

fq.{4-4T, 2019 

	

3-T1U-002 : 	 TIVITF1.  - 	#1-4ta.  

?4-Trer : 3 Efur . 
	

3irgiWaTi .  afth-  : 70 
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1. 	 [c1cbc 	A- t1 d7R tr -qTN tT-4 	fcqu 	(11 	 15x1=15 

(t. 	Q,-cf. (kWh), 	(kW), rii*.+1, ftcrfaiza, 3iitdT, TO, 

#R=R4, -41c1c11 ( ch -5q-dt), 11-4, ft=f-34, 	(), TuTrt) 

(a) 11 1-1 t I 

(b) t mini ,  	 ti 

(c) -7Itt 	ft-{Ti t 	 

(d) t 33mi ztu4 =41 TrIwri 	Pvirict wT4 t fc-R, 	t .i1r4 
	 Chit 	 t I 

(e) cr) 	E 	tI4 	oiR 'lid tl 

(f) IT[R11. ITE-4 (components) chl -UUq'f 	t 	 (11 41, 

(g) 	, 	T -r1 ti 

(h) SF6  i)q   ch 	t I 

(0 	 qt-1 	 fit Alai t I 

(j) 01*-11-4-o-r4 'TO,    	at t I 

(k) 	t 	3-1fq 	 314R 	 •711cli t I 

(1) 	<.1-&--14-}i 	TFTPlrte 	 tit1-11-4t 	14 CPI 	d tI 

(m) afTaro.  ftzir 	t I 

(n) 4 Iqt, 	t 	 tit it 	rmt TrtktR-T (1 4 11qf \TIM( t I 

(o) tiGF-147F .14 	kida gRi 	ti 
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(a) ,4I-tithi 	T-P-rdW (static) fz-liTt4 t I 

(b) chl v-11 -14 	 t.  I 

(c) Tilt. Trita -14 	A don-t1a-1 ufd   t 1 

(d) 71-d-T 	 fq-d-TuT (distribution) .1.-t-ith-14t, rs:311 	 4:1 sr-cz 	r- 	-I I 

(e) 33 kal. t-TarT a-)1 .iFzs 	30 kcil. t I 

(f) Trta 	 6 (dissolved) if chi 	f-*-zrr 	t I 

(g) T-Ofd (static)7 chl 	 fad 	tf 0.2 t I 

(h) 141dcbi so 	 (r 	t I 

(i) fir TfWE ijurfw 	deb-114 uf - 	1ct1 t 

(j) riffs (no load) IR ch1 4-1M-CdT t I 

3. 	41=4 Fq41 chIc11-1 - 	err chicl+-1 - 	fq--o-ri 

- 	- 

(a) (i) 

(b) TJH a-)1k.b 

(c) 41.t. 	(iii) 	 

(d) 9 	 (iv) 441 

(e) (v) 	 TIMET 

5x1=5 

-4*f -rwt 31-rd 1517t t 3TR qr1F5-1 I 

4. 1.44 tr-t -#.4 	fffftRt 

5. rtli 	ft -tcul 	au 	I 

6. t-icit-4-f 14 s1.Tft. 	3-1T4FTWaf 14-4 • .771. t? 	kt4 z1 4 11qf ,711d1t-  ? 

7. ofe.4-11e.,k 3-71Azr1 1 ? 

8. 	fq-dTuT 	ftt-qz-q- 	3-qT9-  11 	 t? 
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9. cl•-f 3TTkrur 	-t*:1 	f-fffti I 

10. er) 	 t? 

11. 8 .t.3-1-R. aw Ala 	Tut 	 c4-11 	I 

12. fq-E0 	krfd-zff frru--qa3ITftt? 

13. "N"--A-- 1m1 ult1 fitra -4* fM 	fad 3-TRif9-414, 2003 t 317TR 	TITT4A 

14. d 11 -I m1 	fm-t fq-Nq 	.3c,-1---f d 	? 

15. %-q- • •q-iT4 T WITT 	t 
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